e A2
® 26149 D A 16t 16
11
2 = —_—
Ot g

X2+ 2xy +y°
®© 1 @
24 xy+ )



2. 6xy—-8x-9y+12 = (ax+b)(cy+d) N a+b+c+d2 S
T-SFH?

D 1 @ 2 3 0 @ -1 B -2



® 2x24+7x+6

@ x*-4

D x24+x-6

® 3x2+Tx+2

@ 2x2 +3x-2



4.  (2a-3b)? - (4a-5b)* = 4(ma + nb)(b - pa) L W, mn - p ] F=
ok

D =11 ® 13 3 —-13 @ 11 B -2



5. Ax®436x+B=(2x+C)* °llA I A, B, € o] T Fopw?

D 4 ® 9 B 81 @ 90 B 94



Vi=a-29 W, Vx—4da+12- Vx + 2a -3 & 7+33] 5HA? (&,
2<a<4)

® -2a+5 @ 2a-5 @5

@ —24-3 ® —2a+3



7.

0 =1 o QI 2 4 1 ol tHaf m o]

D1 > 5 N



P4+ Ax+12=(x+a)(x+b) ¥

8.

J

G 1

? -13 3 -8

@D 8



9.

43 —dx —a 7} T LAAI9] HFOo &2 4B, o]

2x+3 4 W, a O 27

@D -15 ® -6

3 3

=
o

rst



10. o 5 (22 +2x)7 - 11 (x% + 2x) + 24 9] 9157} opd A9

D x+4 ® x+3 A x4+ 2 @® x-1 B x-2



11. b4 22 - dxy 4 3)? — 6x + 2y — 16 2 AR sFATY
(x+ay+b) (x+cy+d) 7 HAt ol a—b+c-d 2 27

D o @ 1 3 2 @ 3 ® 4



12.

15 x 7.6% - 7.42 x 15 <]

@D 55 @ 45



a?-2ab+b*=9, 6ab+2=-4, a>b

® 4 B 9 @ 16 B 25

1



14. a+b=3,ab=1<L W, a®(a—-b) +b?(b-a) & A7

@D 13 ® 15 3 17 @ 18 B 20



15. 2wo] 7t2et A7t 22 3x - 1, x - 2y Q1 A{HA| ] a7}

3x3 — 7x? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] Z&HA| 9] =ol&
-5FHA?
D x-2 @ x-1 ® x+1

@ x+2 3 2x+1



